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2N 38
By AMHYINSY (S
Sl FRUHIBOCR (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
0 R 5,000
0 Al EHIS NI 6,000
0 Xr2rau] 2,000
03 EAI2 Y| 2,000 2,000 0
0 AZHAKIR 2,000
202 01t 40,200 36,840 3,360
01 2UhoiH| 6,600 6,600 0
0 22l 0| 500,0002 * 122 6,000
0 SXEY ol 50,0008 * 122 600
02 oot 33,600 30,240 3,360
0 SHAAZZOH 200,008 * 14 * 122 33,600
288 A 100,720 101,000 £280
FoI=RAAY 100,720 101,000 2280
ARD FOSAAY 100,720 101,000 2280
401 AIEHIL2OH] 100,720 101,000 280
01 Al 100,000 100,000 0
0 FULAANY 50,000
0 2E0I2 242 THEE T AHL=200m) 25,000
0 AEOIS 2F2 IS AH(L=150m) 25,000
03 Al&=CHHl 720 1,000 £280
0 FYLRAAY ALRLHY| 720
HH2SHFY (S HH) 56,497 48,043 8,454
ooy (34) 17,909 16,883 1,026
oy (34Y) 17,909 16,883 1,026
101 @121t 17,909 16,883 1,026
03 RIHA2EZXE A 7,909 16,883 1,026
0 BAZEI(1Z) 17,909
o Jl=3 34,9102 + 3002 10,473
o 403 10,473,0002 * 4/12 3,491
o FEALY(FA4Y) 34,9108 * 522 1,816
o HXNRIEINLY 34,9108 * 162 559
o NASA2DRLY 6,540 * 20AI2 + 128 1,570
JI= 2L (248) 38,568 31,160 7,428
SICETICELY 38,568 31,160 7,428
201 Ypr2 | 28,428 21,000 7,428
01 ALR eIt 28,428 21,000 7,428
0 YBH4BHI(BS) 19,428
0 2HI(ZE) 9,000
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